1(33-22)



1 (33-22)

m3

96







1 (33-22)

m3




m3




2796 70§
2796 70§
2 vr+0 OND| 876 0S°T ST 59 59 L705+07ONJ
vLE 0672 ST 6°CT 9zt 2 v+07OND
782 09°€ ey 6L 6L 9°TE+07ONJ
zer 0z°e 6°C 09 079 L7€2+07OND
0L 0870 ST 8°8 88 L7 LT+07OND
JOTONO| ¥70 S0°0 10 6°8 6°8 678+07OND
00 07OND
(ew) (ew) (ew) () ()







1 (33-22)







CNO.0+9.4

CN0.0+50.7

41.4

41.4

41.4




10.0

0.20 0.60

0.30

} 1.10

V=(0.60+1.10)*0.20*1/2*10.0=1.70

1.70 m3

A=0.60*10.0=6.00

6.00 m2

A=(0.20*+/ (1°2+172)+0.20*~/ (1"2+1.5"2))*10.0=6.43

6.43 m2




S=1:500

VS§=1:100
HS=1:500

190.00

1:100

1:500
DL=175.00

f-90.8m

r\\ij AR
| L=62.1n “,
S X
=) ew  L=236.0n i
I s 2147 v ‘
S B
e . L=41.4n |

T

CT.1(KBM)
H=184.500

L=62.1m

L=236.0m

1/\

AR RN AN RN LA RN AT

e 02150

18191

176.98

176.72

184.16

181.99

182.52

181.33
181.88

183.94

0.000

17.700

23.700

31.600
44.200

62.100

0.000

17.700

6.000

7.900
12.600

17.900

N0

CN0.0+17.7

CN0.0+23.7

CN0.0+31.6
CNO.0+44.2

CN.0+62.1

178.02

$=1:100
600
|
. l \
oF N
1
| & 1000
) . °
A g
| 3
)
& -
~ . 0
‘ N
|
N
\;
t=10cm) N
50cn  120cn 15¢cm)
9cn L=1.50m @1.00m
VS=1:100
HS=1:200
! 1 © 5
o o S S o S
@K N N P P P
59.0
43.0 16.0
.4 17.7 6.0 ) 7.9 10.5 .5
I 5
I |l =
PRI IR
o I i
[ I
177.
1
sten - 120em | 236.0 3
9cm L=1.501
oon 59
t=10cm | m2 311.6
1/2 ‘ ‘ 1(33-22)




6.000

D:

17.700

D:

CNO.0+23.7 CNO.0+62.1
GH=182.52 GH=183.94
Fh= Fi=

DL=175.00 g DL=175.00
CNO.0+17.7 i CNO.0+44.2
FH= FH=
9962
DL=175.00 g DL=175.00
CNO.0 E CN0.0+31.6
GH=184.16 "
FH=
DL=175.00 g DL=175.00

272 | | 1(33-22)




1(33-223)



1 (33-223)

m3

457

m3

308

m2

430

m3

85

m3

105

m3

26

50cm,

120cm,

15c

236




1 (33-223)

m2 430
1
1
m2 272 (48t)







1 (33-223)

m3

457.4

m3

308.1

m2

430

m3

84.6




m3

457.4

457.4




v LSy 1°29
v LSy 1729
0Ly G€°9 0°0 vl Z'8 1°29+0°0ND
2 ¥r+0"ONO| 879TT 0,72t N4 76 L6 6°€5+0°ONO
G 0€T 0z°¢T N4 10T 97T 2 ¥+070ND
v°SL 5576 LT 6L 6L 9 T€+0 OND
679 ST°9 vl 09 079 17€2+0°0ND
0°0S S0°€ 61 v 9T v79T L7LT+070ND
J0"ONd| 870 0970 1 €1 €T € T+07OND
0°0 0°0NO
(ew) (zw) (zw) (W (D)




m3

308.1

308.1




T°80E 1°es
T1°80€ 1729
1€ 00°€ S0 67 Z°8 T°29+0°0ND
(  )T°Z9+0°OND| ¥76S G279 §°G G'6 L6 6 €5+0°0ND
z°9. 0€°9 0L 12T 9°ZT 2 ¥v+07OND
9°ee SZY 9°g 67 6L 9 TE+0 OND
6712 G9°€ 6°¢C 079 079 L™€Z+0°0ND
6°GS G€°9 vy 88 88 L™ LT+07OND
C  )o'ono| vriE (47 €8 6°8 678 6°8+00ND
10 07OND
(sw) (zw) (zw) (W (D)




m2

430

430




0°0€Y 1729

0°0€Y 1°29
G°LE Ly (x4 67, '8 T°¢9+0°0ND
T°v+c°€ ( )T°29+0°ONO| G°GL S6°L €L S°6 L6 6°€S+0"0ND
9°¢+0°G| €°€0T or°8 9°8 €T 97¢T ¢ vy+07OND
¢"€+0°G| ¢°€9 00°8 '8 67L 67. 9°TE+0°OND
87¢+0°G| ¢'9¥ 0L°L 8L 079 079 L°€2+0°0ND
97¢+0°G| 9799 Sv°L 97. 88 8°8 L"/T+0°OND
8°T+5°9 ( JO"ONO| 2°8€ SE'v €L 6°8 6°8 6°8+0°0NO
V1 0°OND

(ew) (w) Q) W ()




m3

84.6

84.6




C )3
V1=308.1

C )(m3)
V2=457.4

C Hm3)
V3=105.0

¢ (m3)
V4=25.7

C )m3)
V5=96.2

¢ Hm)
> V1=457.4+105.0=562.4

¢ )
> V2=308.1+25.7+96.2=430.0

C=0.90

> V3=562.4-430.0*1/0.9=84.6

84.6

m3







1 (33-223)

1

1
m3 105.0
m3 25.7

1

50cm,

120cm,

15c

236




m3

105.0

105.0

m3

25.7




0°S0T 1729
07501 1729
11T 06°T 6T 970 870 T°29+0°0ND
(  )Tz9+0°OND| 9°6¢ G8°T 6T 0791 11T €°T9+0°0ND
1787 ST 8T 1701 9°ZT 2 ¥v+07OND
2 08°T L'T 67 6L 9 TE+0 OND
V1T 06°T 6T 079 079 L™€Z+0°0ND
6712 0L°T 6°T v 9T 79T L™ LT+07OND
C Joonof T2 09°T ST €T €T €°T+0°0ND
LT 07OND
(sw) (zw) (zw) (W (D)




1762 1729
1752 1729
€0 ov 0 v 0 /) 870 T°29+0°0ND
(  )T79+0°0ND| ¥°9 ov 0 v 0 0791 11T €°T9+0°0ND
vy ov 0 v 0 60T 9°ZT 2 ¥v+07OND
9°¢ Sv°0 v 0 67 6L 9 TE+0 OND
0°¢ 0570 S0 079 079 L™€Z+0°0ND
vl G770 S0 v 9T 79T L™ LT+07OND
C )oono| 970 Sv 0 ) €T €T €°T+0°0ND
G0 07OND
(sw) (zw) (zw) (W (D)




50cm,

120cm,

15c

236

236




CNO.0

CNO.0+62.1

236.0

59m>=<4

236.0

236.0




50cm, 120cm, 15cm

NS

t=10cm)

C s0cn  120em  15cm)

9cm L=1.50m @1.00m

L=59.0*4=236.0

50cm 120c
m 15 236.0 m
N=59.0/1.0=59
9cm L=1.50m
®1.00m 59
A=(0.5+0.5*7+1.2)*59.0+1.2*0.5*4*2=311.6
t=10
cm 311.6 m2







1 (33-223)

m2

430




m2

430

430




0°0€Y 1729

0°0€Y 1°29
¢¢| §°LE Ly ¢ 67L '8 T°¢9+0°0ND
T°v+c°€ ( )T°29+0°ONO| G°GL S6°L €L S°6 L6 6°€S+0"0ND
9°¢+0°G| €°€0T or°8 9°8 €T 97¢T ¢ vy+07OND
¢"€+0°G| ¢°€9 00°8 '8 67L 67. 9°TE+0°OND
87¢+0°G| ¢'9¥ 0L°L 8L 079 079 L°€2+0°0ND
97¢+0°G| 9799 Sv°L 97. 88 8°8 L"/T+0°OND
8°T+5°9 ( JO"ONO| 2°8€ SE'v €L 6°8 6°8 6°8+0°0NO
V1 0°OND

(ew) (w) Q) W ()







1 (33-223)

m2

272

(48t)




m2

272

272




W=3.0(m)
L=90.8(m)

A=90.8*3.0=272.4(2)

N=roundup(90.8/1.524,0)=60( )
V=60*0.802=48.1(t)

272

m2




S=1:500

| | 190.00
185.00
VS=1:100 |
HS=1:500
180.00
1:500
DL=175.00

1838

18385

CT.1(KBM)
H=184.500

L=62.1m

e

176.65

L=236.0m

U\

\‘\‘\‘\‘\‘w\’\’\‘!’\‘\‘!’\‘l

o

176.98

176.72

184.16

181.99

182.52

181.33
181.88

183.94

0.000

17.700

23.700

31.600
44.200

62.100

0.000

17.700

6.000

7.900
12.600

17.900

N0

CN0.0+17.7

CN0.0+23.7

CN0.0+31.6
CNO.0+44.2

CN.0+62.1

2152

178.02

1
50cm 15 120cm n 236.0
9cm L=1.50m
#1.00n 59
t=10cm | m2 311.6

S$=1:100
I 600
\ |
Z+7
o T
| & 1000
) g °
A g
| 5
)
™ -
S Z-
1 N
| o
<
N
\]
t=10cm) N
( 50cm  120cm  1s5cm)
9cn L=1.50m @1.00m
VS=1:100
HS=1:200
a A )
y o S o o
FB}/// 2 2 O O
59.0
43.0 16.0
.4 17.7 6.0 ) 7.9 10.5 .5
I 5
I |
PRI i
o 0 i
I [
177.00

N
oL
QO 'Q

172 ‘

‘ 1(33-223)




6.000

D=

17.700

D=

CNO.0+23.7
18252
Fh=

7.4

1000,

3000

2.9

1.9

o|m|w|o

0.5

DL=175.00
CNO.0+17.7
EEURTE
Fi=
DL=175.00
CNO.0
GH=184.16
Fi=
DL=175.00

CNO.0+62.1
GH=183.94
Fh=

FISEE

g DL=175.00
z sl v I
I CNO.0+44.2
GHele1.88
FH=
9962
C |[12.7
B 7.0
E 1.8
t>ﬁ\\\\\\\\ b 0.4
Dands 1000 g
DY 8
X
= 18&\
————— Z
8684
9189
g DL=175.00
g = v _
& CN0.0+31.6
=t
Fi=
7875
C |11.7
B 5.6
E 1.7
| b 0.4
; 7 000 =
‘ ICPINE g
9
)
LA
N Yo
|
)
g DL=175.00
g = v _
%

272 | | 1(33-223)




1(33-24)



1 (33-24)

m3

124

m3

149

m3

76

m3

14

m2

190

m3

20

m3

50cm,

120cm,

15c

30




1 (33-24)

m2

192

VPp150

m2

77

(14t)







6€T T9. T6vT
6€T
6'0= 19, €0c¢ CTTT 9.1
T T T T
. . . . . . . . . . (rz-ee)1
(vez-ee)1 00 6.8C |[L'¢ 2'SEC |€V9¢ |6°CT 9'v8 9¢¢ 9'€cT |96T
(ezz-£9)1T A
(ezz-€9)1 (vzz-ce
v
_ (rzz-€e)1
9¢c
(zz-€9)1
(ezz-€8)1 2'96
bud
. _ . _ . _ _ . (€zz-€o)T
9'¥8 oocr |L'S¢ 2’96 1'80€ |¥'29S ¥'/SY |0'GOT
(zz-€e)1




1 (33-24)

1

1
m3 123.6

1
m3 149.2
m3 76.1
m3 14.0

1
m2 192




m3

123.6

123.6




(m (m2) (m2) (m3)
ANO.0 2.0
ANO.+9.0 8.6 12.0 7.00 60.2
ANO.+19.5 8.8 2.4 7.20 63.4
17.4 123.6
17.4 123.6




(VUp150) L=8.

»150) L=6.0m

(VU150) L=6.0m

—
103.52
v
104.83 Vv 4
103.75 103.66
VP200
103.09 |
102.79
—
101.58 100.98
+103.10 ‘ N
I N
£ N
101.51 0134 %)
I 98.03
99.01

EL=96.86 \ EL=96.82

+98.10

106.09

-105.66 O
V' 105.20
100.42
o
96.72 | 96.00 2
I ~100.03
98.03
96.69/\-96.25

123.6

m3




m3 149.2 149.2
m3 76.1 76.1
m3 14.0 14.0




(m (m2) (n2) (m3)
ANO.-0.8 0.0
ANO.O 0.8 1.3 0.65 0.5
ANO.+0.3 0.3 7.1 4.20 1.3 [ANO.OC )
ANO.+9.0 8.7 18.8 12.95 112.7

ANO.+19.5(C )

ANO. +18.0 9.0 6.9 12.85 115.7
ANO.+19.5 1.1 1.2 4.05 4.5
ANO.+20.3 0.8 0.0 0.60 0.5

20.7 235.2

20.7 235.2




C )3
V2=123.6

C )m3)
V3=19.6

C H(m3)
V4=2.7

¢ )
V5=22.6

(m3)
V1=235.2+2.7=237.9

(m3)
V6=(123.6+19.6+22.6)*0.9=149.2

149.2 m3
¢ )
V7=84.6(n3)
¢ Hm3)
V8=84.6%0.9=76.1(n3) 76.1 m3
V1=237.9(m3)
V6=149.2(m3)
(m3)
V8=76.1(n3)
(m3)
V9=(237.9-(149.2+76.1))/0.9=14.0(n3) 14.0 m3




m2

192

192




(m (m (m m2)
ANO.-0.8 0.
ANO.0 0.8 5. 2.95 2.4
ANO.+0.3 0.3 8. 7.00 2.1 [ANO.OC )
ANO.+9.0 8.7 10. 9.10 79.2

ANO.+19.5( )

ANO. +18.3 9.0 10. 10.40 93.6
ANO.+19.5 1.1 8. 9.80 10.8
ANO.+20.3 0.8 0. 4.45 3.6

20.7 191.7

20.7 191.7




192

m2







1 (33-24)

1

1
m3 19.6
m3 2.7

1

50cm,

120cm,

15c

30




m3

19.6

m3

2.7

2.7




(m (m2) (m2 (n3) (m2) (m2 (m3)

ANO.+2.7 0.5 0.1 No.0+9.0
ANO.+9.0 5.9 1.5 1.00 5.9 0.2 0.15 0.9
ANO.+19.5 9.1 1.5 1.50 13.7 0.2 0.20 1.8
15.0 19.6 2.7
15.0 19.6 2.7




19.6

m3

2.7

m3




50cm,

120cm,

15c

30

30




ANO.+2.7

ANO.+19.5

30.0

15m>=<2

30.0

30.0




50cm,
15¢cm

120cm

30




50cm,

120cm, 15cm

98.01

1200

WH \ i
‘ t=10mm) 7
97.01 ! [ H ( S0cn  120cm  15cm)
L=15*2=30.0
50cm 120c
m 15 30.0 m
N=15/1.0=15
9cm L=1.50m
®1.00m 15
A=(0.5*3+1.2)*15+1.2*0.5*2*2=42.9
t=10
mm 42.9 m2







1 (33-24)

m2

192




m2

192

192




(m (m (m m2)
ANO.-0.8 0.
ANO.0 0.8 5. 2.95 2.4
ANO.+0.3 0.3 8. 7.00 2.1 [ANO.OC )
ANO.+9.0 8.7 10. 9.10 79.2

ANO.+19.5( )

ANO. +18.3 9.0 10. 10.40 93.6
ANO.+19.5 1.1 8. 9.80 10.8
ANO.+20.3 0.8 0. 4.45 3.6

20.7 191.7

20.7 191.7




192

m2







1 (33-24)

VPp150




VPp150

20.0




ANO.+2.8 8.0
ANO.+9.0 6.0
ANO.+16.0 6.0

20.0

20.0




VPp150

20.0







1 (33-24)

m2

77

(14t)




m2

77

77

(14t)




;@v 05757

1=103.78

101 58 A 100.98
A
+103.10 / . \ ; 9987 |,
VP150
/ 1?}06
101.51 101.34 .
,——""—ﬂ" .

W=3.0(m)
L=25.5(m)

A=25.5*3.0=76.5

N=roundup(25.5/1.524,0)=17( )
V=17*0.802=13.6(t)

(il sd ]

VP200
103 09 | "‘ -2 AT
e | ) ‘

1\ 7 .
2/

VP50 A

100.22\.99:7865- 56

99.52

+98.10

V' 105.20

77

m2




V§=1:100
HS=1:500

1:500

105

100.

1:100

DL=95.

.00

00

| _—1=30.0m

(VU150) L=§.0m| (VUr9150) L=6.0m

(VUp150) L=6.0m

1 __l_lllllllllllllllllllll-ls

TR T
s

121

S=1:100

15.0

11.0

4.0

5.9

98.01
g g g H
97.01
g g g
S s 2
g g
=3 3 3‘
- : s
g g g

1
soon 1200 | 0.0

9cm L=1.50m
61.00m 15
t=10m | m2 42.9

S

ANO.0+19.
6H=103.61
Fh=

DL=100.00
ANO.0+9.0
GH=101.57
FH=
910
DL=100.00
GH=103.64
FH=
DL=100.00

=1:100

5

97.91

96.91

§=1:100

t=10mm)

( s50cm

120cm 15¢m)

9cm L=1.50m @1.00m

o|m|w|o

o|m|w|o

171 |

| 1(33-24)




1(33-224)



1 (33-224)

m3

23

m3

23

m2

225

(40t)







1 (33-224)

1

1
m3 22.6

1
m3 22.6




m3

22.6




(m (m2) (m2) (m3)
ANO.0 0.0
ANO.+9.0 8.6 2.6 1.30 11.2
ANO.+19.5 8.8 0.0 1.30 11.4
17.4 22.6
17.4 22.6




(

101.34 9
98.03

)(m3)
V1=22.6

100.98
\A )
L) \ ]

4

10é.64 103.67°

"'s‘__ "
4

100.22 99.76
99.52

T

22.6

m3




m3

22.6




(

)(m3)
V1=22.6(n3)

¢ Hm)
>V1=22.6(m3)

22.6

m3







1 (33-224)

m2

225

(40t)




m2

225

225

(40t)




L=19.5m

150) L=6.0m

— ¥ 99.68

~1=30.0m
(VU150) L=8.0m (VU
- | |
I —
T
- i 11
[
103.52 \\‘s
\Y l Vv
¥ v .
104.83 . Vv 103.64 || 103.67° Vv
103.75 103.66 103.65
VP200 .
103.09 B 7 7
102.79 — A
> | 2 . I
y / 77
101.58 L3109.78
o 100.98 o VP150 ‘
: il S \P150 100.22\ 0785 5
£ 1& 6 99.52
101.51 10134 9 T
- 08.08" e — ;lfmije |
99.01

(VU¢150) L=6.0m

\

106.00
-105.66

V' 10520

-|/103.71

100.42 /

7100.03

96.72 | 96.00

98.03 A

96.59
T

97.49,




W=3.0(m)
L=75.0(m)

A=75.0*3.0=225.0

N=roundup(75.0/1.524,0)=50( )
V=50*0.802=40.1(t)

225

m2




V§=1:100
HS=1:500

1:500

_105.00

1:100

DL=95.00

L L L L L L L L L LA\ L
IR

98.67

97.16

98.19

9.76

103.64
101.57

103.61

0.000
9.000

19.500

0.000
9.000

10.500

ANO.O
ANO.0+9.0

ANO.0+19.5

-
(VUKP150) L=6.0m
1| (We1s0) L6.0n L
_—
| [
mou = - |
|
|
|
|
|
|
|
|
// “ I
7
'l
“&//\‘
2
)22l
2 nnn .
‘ )
‘ I
‘
S=1:100
\“"ngp
15.0
11.0 4.0
5.9 5.1
98.01
| |
50cm 5 120cm n
9cm L=1.50m
#1.00m
t=10mm m2

97.91

96.91

10.500

D:

S=1:100

ANO.0+19.5
6H=103.61
Fh=

AN0.0+9.0
6H=101.57
FH=

9.000

D:

ANO.O
6H=103.64
Fh=

§=1:100

-
t=1om) ) erﬁi

50cm  120cm 15cm)

9cm L=1.50m @1.00m

o|m|w|o

o|m|w|o

171 |

| 1(33-224)




+ T Mm” B i 5

A+ MIXHEALE | BAL WELSE BIX
+ T HRstEE _ _ _ | wEE fwmE
”L BRI 24 a5t Bt sE | a5t |
et =
BIRIBX
EH#11(33-22)
BiHX
B 105.01 457.4 562.4] 308.1 96.2 257 430.0 84.6
% 1(33-223)
B #h X AR X
- 96.2 #85%1(33-223)
E#11(33-22) A+ %R
KAZHEX
22.6

5% 1(33-224)

KA BIHE  a
#E3R1(33-224) 5% 1(33-223)

Fo A2 X R B f51(33-229 e
" 19.6] 123.6 22.6 84.6 13.9] 264.3| 235.2 2.7 2379 0.0+, AEHWX Heax1(33-224)
EH1(33-24) Fei L% A
l ! ! ! l
L SRS 17.6| 111.2 20.3 76.1 C=0.9
13.9
= 149.1 76.1 13.9

KAAL |BALE

FELRLE
e = B 2




2 (33-236)



2 (33-236)

m3

m2

39

m3

15

m3

21

m3

15

m3

50cm,

120cm,

15c

50

m2

39




2 (33-236)

m2

225

(40t)







2 (33-236)

1

1
m3 6.0

1
m2 38.7

1
m3 15.0
m3 21.1




m3

6.0

6.0




(m (m2) (n2) (m3)
No.0 0.0
No.0+7.3 7.3 0.7 0.35 2.6
No.0+11.5 4.2 0.9 0.80 3.4
11.5 6.0
11.5 6.0




6.0

m3




m2




(m (m (m (m2)
No.0+2.6 0.0
No.0+3.9 1.3 4.5 2.25 2.9
No.0+7.3 3.4 4.8 4.65 15.8
No.0+11.5 4.2 4.7 4.75 20.0
8.9 38.7
8.9 38.7




38.7

m2




m3

15.0

m3




(m (m2) (n2) (m3)
No.0 0.0
No.0+2.6 2.6 0.9 0.45 1.2 [No.0
No.0+7.3 4.7 4.9 2.90 13.6

No.0+7.3( )

No.0+9.0 1.7 4.9 4.90 8.3
No.0+11.5 2.5 3.1 4.00 10.0
No.0+12.1 0.6 0.0 1.55 0.9

12.1 34.0

12.1 34.0




(

(
(

Y(m3)
V2=6.0

)(m3)
V3=15.4

)(m3)
V4=4.3

(m3)
V1=34.0

(m3)
V5=(6.0+15.4-4.3*1/0.9)*0.9=15.0

15.0

m3

(m3)
V6=(34.0-15.0)*1/0.9=21.1

21.1

m3







2 (33-236)

1

1
m3 15.4
m3 4.3

1

50cm,

120cm,

15c

50




m3

15.4

m3

4.3

4.3




(m) (m2) (m2 (m3) (m2) (m2 (m3)
No.0+1.2 1.2 0.4 No.0
No.0+5.0 3.8 3.6 2.40 9.1 0.7 0.55 2.1 [No.0+7.3
No.0+7.3(
0.0 0.7 0.3
No.0+7.3(
No.0+7.3 2.3 0.7 0.70 1.6 0.3 0.30 0.7
No.0+7.3(
No.0+9.0 1.7 0.7 0.70 1.2 0.3 0.30 0.5
0.0 1.4 0.4 No.0+11.5
No.0+11.5 2.5 1.4 1.40 3.5 0.4 0.40 1.0 |No.0+11.5
10.3 15.4 4.3
10.3 15.4 4.3




15.4

m3

4.3

m3




50cm,

120cm,

15c

50

50




No.0+1.2 No.0+5.1 28.0 [4mx<7

No.0+5.1 No.0+9.1 12.0 (4m>=<3

No.0+9.1 No.0+11.5 10.0 [2.5m>=<4
50.0

50.0




50cm,
15¢cm

120cm

50




50cm, 120cm, 15cm 1

2.1 1.9

1200 500

121.76/ 121.76 121.76

t=10mm)

( 50cm  120cm 15cm)
118.26 118.26

’ 119.74

1629

9cm L=1.50m @1.00m

L=4.0*7+4.0*3+2.5*%4=50.0

50cm 120c
m 15 50.0 m
N=4+2=6
9cm L=1.50m
@1.00m 6
A=(0.5+0.5*13+1.2)*4+(0.5+0.5*5+1.2)*4+(0.5+0.5*7+1.2)*2 .5+
1.2*0.5*%(7+4+1+4)=72.2
t=10

cm 72.2 m2







2 (33-236)

m2

39




m2

39

39




(m (m (m (m2)
No.0+2.6 0.0
No.0+3.9 1.3 4.5 2.25 2.9
No.0+7.3 3.4 4.8 4.65 15.8
No.0+11.5 4.2 4.7 4.75 20.0
8.9 38.7
8.9 38.7




39

m2







2 (33-236)

m2

225

(40t)




m2

225

225




125.77

125.43

A L L L L L L LA LA DL L L

125.41°

.| ; h
00|

124.78

— 1.3 .

\ 115.51
EL=118.89

W=3.0(m)
L=75.0(m)

A=75.0*3.0=225.0

N=roundup(75.0/1.524,0)=50( )
V=50*0.802=40.1(t)

— ‘115,6{' N
‘115.40 ‘ HP OOAD

225

m2




$=1:100

— _ S No.0+11.5
GH=124.44
o FH=
8
d
i
)

125,77

T

x —

\

T

I

T
gty eyt

CITT

‘ S$=1:500

| [l
H
| DL=120.00
| i
‘ [l
| H
" H No.0+7.3
\ ,H GH=124.45
[ s FH=
| j\ 2
W
| .? - 700
H
| il
| Hi
H
| i |
sl | |
- - [ (@D}
«\i‘iT,,hj‘—fjf‘*ﬂ ‘*‘ Q\\]\"J_S c o7 cl -
| ‘ | | | | , N B [4.9 B [ 4.9
[ | ! | ‘ | ‘ | | E [3.6 E [ 0.7
| | ‘ | o b [0.7 b [0.3
= < < < < = e . Z,
T / k@300 —+"
115,51 115.20 -
=0.7
DL=120.00 b /
(
‘Y\
— C Yoo AR
o0 A \ES
- ~ / GH=124.49 I
B — o o FH=
/ g
- S
~ g
L=11.5m
L=50.0m
KBM(DT. 1.
H=124..80!
S$=1:100
9 S DL=120.00
> > _—
P N\ o
10.5
120.00
S | | 4.0 4.0 2.5
S
B 1.3 1.1 2.3 1.7
1:500 124.45 124 445 124.39
DL=117.00
@ ° ~
b i kil S$=1:100
— = -
) s o 700
122.11 < 5] 3
— N 121.76 | 121.76 o 121.76
i x =/
-
1200 50
\ 500
I
118.26
] CEE]
g i g 1
- - - t=10mm) AN gl
& SF
g g 8 50cm15 120en | 50.0 i
s - o ( 50cm  120cm 15cm) - 3
9cn L=1.50n .
@1.00m -
9cm L=1.50m 61.00m
g ElE] t=10mn | m2 72.2
1/1 ‘ ‘ 2(33-236)




